

$$aq^{-1} \times a \times aq = 4f$$

$$f q^{-1} + f + f q = 21$$

$$\left(\frac{1}{f}\right) - 1$$

$$a^f = 4f \rightarrow a = f$$

$$\frac{f}{q} + f q = 17 \rightarrow \frac{f + f q^2}{q} = 17 \rightarrow f + f q^2 = 17q$$

$$f q^2 - 17q + f = 0 \rightarrow q^2 - 17q + 17 = 0 \quad (q-1)(q-17) = 0$$

$$q = \left(\frac{1}{f}\right) \text{ or } f$$

$$(x^f + f)(x^f - f) = f x^f \rightarrow x^f + 2x^f - 1 = f x^f$$

$$x^f - 2x^f - 1 = 0 \rightarrow (x^f - f)(x^f + f) = 0$$

$$\underbrace{(x+f)}_{-f} \underbrace{(x-f)}_f (x^f + f) = 0$$

$$SN = \wedge \left(\frac{\left(\frac{1}{f}\right)^f - 1}{\frac{1}{f} - 1} \right) = \frac{-127}{-95}$$

$$x = f \rightarrow \wedge, f, f$$

$$\underbrace{x}_{\frac{1}{f}} \rightarrow q = \frac{1}{f}$$

$$a + aq + aq^2 + aq^3 + aq^4 = a(1 + q + q^2 + q^3 + q^4) = a \left(\frac{121}{11} \right) = 244 \times \frac{121}{11} = 2684$$

$$\frac{4f-1}{f+1} = \frac{q^f}{f} = 10, d$$

-f

$$1, d, d : a_f = a_q + qd \rightarrow 1 + 11, d = 12, d \rightarrow d$$

$$q^{n+1} = \frac{b}{a} \rightarrow q^4 = \frac{q^f}{1} \rightarrow q = \pm f$$

$$A+B = 12, d + 1 = 13, d$$

$$a_f = a_1 \times q^f \rightarrow 1 \times 1 = 1 \quad B$$

$$d: \frac{-9d}{\epsilon} - (-2\epsilon) = \frac{1}{\epsilon}$$

$$a_{1,1} = a_1 + 100 \cdot d \rightarrow -2\epsilon + 100 \times \frac{1}{\epsilon} = ①$$

$$\text{همچنین: } a_n = 1 \rightarrow a_n = a \cdot q^{n-1} \rightarrow 1 = 128 \times q^7 \rightarrow q = \frac{1}{128} = q = \left(\frac{1}{2}\right)$$

$$(a + 2d)(a + 1d) = (a + 9d)^2$$

$$a^2 + 10ad + 14d^2 = a^2 + 18ad + 81d^2$$

$$-2ad = 7d^2$$

$$-2a = 7d$$

$$d = \frac{-a}{7}$$

$$a, aq, aq^2$$

$$\frac{1}{\epsilon}, \frac{q}{\epsilon}, \frac{q^2}{\epsilon}$$

$$\frac{q}{\epsilon} = \frac{1}{\epsilon} + 2d \rightarrow \times (-7)$$

$$\frac{q^2}{\epsilon} = \frac{1}{\epsilon} + 9d$$

$$\frac{-7q}{\epsilon} = -\frac{7}{\epsilon} - 14d$$

$$\frac{q^2}{\epsilon} = \frac{1}{\epsilon} + 9d$$

$$\frac{q^2}{\epsilon} - \frac{7q}{\epsilon} = -\frac{1}{\epsilon}$$

$$\frac{q^2}{\epsilon} - \frac{7q}{\epsilon} + \frac{1}{\epsilon} = 0 \rightarrow \frac{q^2 - 7q + 1}{\epsilon} = 0 \rightarrow \underbrace{(q-7)}_4 \underbrace{(q-1)}_1 = 0$$

$$q: 7 \rightarrow a_{1,7} = \frac{1}{\epsilon} \times 7^3 = a_{1,7} = 7^3 = 128$$

SUBJECT:

Year:

Month:

Day:

Page: ()

سینا کابل

$$a, a+d, a+rd$$

↓

↓

↓

$$ra^r \quad raq^r \quad aq^r \rightarrow aq^r + raq = raq^r$$

$$aq(q^r + r) = aq(rq) \rightarrow q^r + r = rq \rightarrow q^r - rq + r = 0$$

$$(q - r)(q - 1) = 0$$

(0, 1) و (1, 0)

$$1, \frac{v}{f}, \dots$$

$$d = \frac{v}{f} - r = -\frac{1}{f} \rightarrow a_f = \frac{d}{f} \quad a_n = a_1 + vd \rightarrow r + v(-\frac{1}{f}) = \frac{1}{f}$$

$$a_{1+r} = a_1 + 1rd \rightarrow r + 1r(-\frac{1}{f}) = -1$$

$$\frac{d}{f} + n, \frac{1}{f} + n, -1 + n \rightarrow (n + \frac{d}{f})(n - 1) = (n + \frac{1}{f})^r$$

$$n^r + \frac{n^r}{f} - \frac{d}{f} = n^r + \frac{n^r}{f} + \frac{1}{14}$$

$$\frac{n^r}{f} + \frac{1}{14} - \frac{n^r}{f} + \frac{d}{f} = 0 \rightarrow \frac{r n - n}{f} + \frac{1 + n}{14} = 0 \rightarrow \frac{n}{f} + \frac{r1}{14} = 0$$

$$\frac{n}{f} = -\frac{r1}{14} \rightarrow n = -\frac{r1f}{14}$$

$$\frac{d}{f} - \frac{r1}{f}, \frac{1}{f} - \frac{r1}{f}, -1 - \frac{r1}{f} \rightarrow -f, -d, -\frac{r1}{f}$$

$$q = \frac{d}{f}$$

$$a_1 + a_f + a_n = v^r \rightarrow a_1 + a_r + a_{10} = v^r \rightarrow a + a + d + a + 9d = v^r$$

$$a_1 \times a_{10} = a^r \rightarrow a_1 \times (a_1 + 9d) = (a + d)^r$$

$$a + 9ad = a + d + 9ad \rightarrow ra = v^r - 10d$$

$$d^r - vad = 0 \rightarrow d^r - vd(\frac{v^r}{f} - \frac{1}{f}d) = 0$$

$$a = \frac{v^r}{f} - \frac{1}{f}d$$